SF64E 4H TH HRDEGETIGRA (ARFES) Gl P. 1
4 PR JEERRK BEAR R
e . S Rl IR A b xt mi Ak
9 N OVE H e o EN et L‘)(,THEQEH = J_)d— oy
HR (t) (M /kg) 174K & AR 74K & EN BN
(%) (%) (%) (%)
[y 2,232.3 263 81.4 123.5 78.6 105.2
BV 306. 3 204
w®OHR 271.3 157
5% 245. 2 181
A 200. 7 209
(= 164.5 394
AN 145. 1 140 68. 8 150. 5 67.0 142.9
BV 61.6 75
& ) 44.3 161
T 1 17.2 235
JARBN 0.5 297 34. 4 162. 3 195.7 91.7
(= 0.3 312
& 0.2 279
WA LA 175. 1 249 92.9 155. 6 86.9 93.3
(= 91.3 287
5 W 73.6 221
ZiES 4.5 279 192. 4 116. 3 63.8 91.5
deigiE 2.2 196
xR 0.8 203
& 0.3 872
H A& 0.2 343
oW 0.2 829
= F D 3.0 350 196. 5 67.7 12.1 94.9
xR 2.2 319
(= 0.7 441
NAZ A 5.0 742 71.2 136. 6 75.6 110. 6
B 3.5 761
KO 1.5 700
[ESE=I 284.8 125 90. 1 113.6 99. 8 110. 6
®OhR 225.6 128
IR 37.5 124
PSS 5.7 347 139.7 99. 1 89.3 97.2
& 3.2 361
KO 1.4 385
¥R 16.5 348 100. 0 96. 1 81.2 97.8
& 13.2 359
Z Ot O FFE 2.0 329 72.1 123.7 73.2 97.1
xR 1.5 308
= R 0.5 388
HATFAEWN 8.2 349 82.8 102. 0 73.9 81.4
FiE | 3.3 420
(= 2.7 272
= 1.3 380
XY 263.9 136 65.9 138.8 56. 7 107. 1
A 165. 6 147
5 35.3 65
)| 19.0 172
EFH5NAED 18.9 574 130.3 102.1 74.3 110. 8
I 14.6 599
(= 1.8 477
nE 57.7 451 81.0 112.8 73.4 112.8
BOm 18.0 408
s 17.5 419
B 6.1 606
KO 3.4 336
B OE 3.3 347
N 2.8 565 119. 4 114. 4 98.0 107.2
A 1.5 405
Fnak L 0.5 919
xR 0.4 553
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4 PR JEERRK BEAR R
I - SRR [F ) b B TR R
=] E&U}iﬁlﬁ{ ﬁﬂﬁ@g ﬁﬂﬁ{ﬁﬂ‘:ﬁ = e = —
HR (t) (M /kg) 174K & AR 74K & EN BN
(%) (%) (%) (%)
R 0.1 656 233.3 162.0 175.0 121.5
A 0.1 656
TrlE 7 402 79.1 73.8 77.5 98.8
X 4 1.9 362
xR 7 511
LA &L 2.4 415 189.1 81.4 86. 1 97.6
xR 2.3 412
) 13.3 531 89. 2 91.7 87.1 81.9
s 8.5 551
X 4 4.5 484
AU — 4.1 355 116.0 98. 3 73.8 108. 2
FiE | 2.3 370
& 0.5 365
=g 0.3 368
KO 0.1 521
T ARG H A 8.5 594 210.0 31.5 168. 6 38.2
= 6.1 73
RE K 1.7 1, 980
5 B 0.0 1, 620 17.0 95.7 1.7 161.4
HYTTU— 1.6 227 119. 6 85. 3 224. 1 62.9
(= 1.6 227
Tuayal— 13.9 471 83.2 99. 6 138.4 82.1
(= 13.3 469
L&A 68.9 345 67.8 172.5 66. 2 110.9
®OHR 22.2 309
& JE 22.0 265
& 12.1 456
D) 0.9 1, 029 142. 4 118.5 93.4 139.2
= 0.7 971
[ 0.2 1,194
EX N 100. 3 348 107.5 118.8 84.9 96. 4
=g 52. 4 372
s 26. 4 331
(= 11.7 367
NEL 25.9 200 205. 6 34.1 91.4 92.2
RE K 3.8 472
=0 0.3 634
A 1 432
5 B A 21.7 146 286. 5 24. 2 93.7 96. 7
72 95. 6 379 119. 2 111.5 111.9 90. 2
s 34.5 283
xR 20. 1 442
& 16. 1 433
RE K 13.2 441
k= k 84.5 347 104. 6 99. 1 84. 3 100. 3
RE K 42.9 343
A 30.5 328
S=k=h 22.0 614 73.3 105.9 7.7 93.0
RE K 15.0 563
= 1.9 692
Fnak L 1.4 1, 108
v—<y 19.7 746 77.6 132.0 96. 1 103.6
=g 8.4 756
s 5.5 654
B VR I 2.3 642
LLEIBRBL 5.0 1, 586 111.5 114.9 95.5 93.5
s 4.3 1,627
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4 PR JEERRK BEAR R
I - SRR [F ) b B TR R
naxzw%lﬁ ﬁﬂﬁ@g ﬁﬂﬁ{ﬁﬂ‘:ﬁ = e = —
HR (t) (M /kg) 174K & AR 74K & EN BN
(%) (%) (%) (%)
ERVAIT A 3.0 1,447 61.6 130. 1 102.5 107. 8
BV 2.6 1,376
SRXAED 2.4 1,401 90. 2 98.9 69. 2 99. 1
(= 1.2 1, 340
RE K 0.6 1,514
= 0.3 1, 669
EZAED 15.3 919 65. 7 102. 6 62.0 98.8
Fnak L 15. 2 919
ZHEDH 4.1 751 67.1 117.2 113.7 90. 8
£ % 3.1 819
Fnak L 0.6 443
ZTEED 3.0 681 74.1 110. 4 104.7 100. 1
[ 0.0 2,633
o RE 0.0 2, 565
MLk 20.8 265 92.9 96. 0 66.5 106. 9
(= 12.8 283
w®OhR 3.5 233
= 3.5 228
Fhv L x 284. 8 212 88. 8 133.3 78.5 119.8
BV 234.6 213
ey 2.3 366 80.9 121.2 73.3 96. 3
=R 1.0 449
= R 0.1 191
REDNY 21.2 455 68. 8 97.0 79.8 100. 7
deigiE 14.7 448
H A& 6.3 445
EhRE 311.6 132 63.6 136. 1 83. 4 90. 4
=g 88.9 125
e 82.3 139
E % 60. 3 140
deigiE 59. 7 125
5 B 14.0 138 157. 4 112.2 96. 7 100. 0
WAz 2.8 816 106. 6 124. 4 110.7 79.9
H A& 1.6 1,019
Fnak L 0.1 1,194
5 HEgA 1.2 537 110.8 145.5 92.9 105.3
LxoMn 8.0 828 101. 4 119.8 77.2 127.4
s 7.4 857
5 B A 0.6 486 55. 6 95.7 110. 8 103.4
LW 13.1 984 80.0 109. 3 107.7 112.1
(= 11.1 1,021
5 HEgA 0.3 778 83.9 100. 1 86. 7 100. 0
Rz 1.7 515 100. 8 99. 4 103.5 99. 6
E % 1.2 513
Fnak L 0.4 486
ZDETF 7.0 361 62.1 116.5 66. 1 116.8
E % 6.1 357
Lol 2.4 483 57.1 113.1 62. 8 108. 1
E % 2.2 463
ZF DA B 65.9 554 100. 1 84.8 89.9 102. 8
(= 38.1 122
RE K 3.3 624
s 2.9 1,792
B VR I 2.3 797
A 1.8 3,391
[PNE-as 65. 2 295 124. 4 68.0 89.6 91.6
fttn oD B A B 3 27. 4 472 82. 4 100. 6 87.0 97.1
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4 PR JEERRK BEAR R
ey = e S Rl IR A b xt mi Ak
=] E&U}iﬁlﬁ{ ﬁﬂﬁ%(i ﬁﬂﬁﬁﬁ% L‘)(,THEQEH = :d' — oy
HR (t) (M /kg) 174K & AR 74K & EN BN
(%) (%) (%) (%)

RIFERRE 1,782.7 437 97.2 108. 4 100. 6 98.9
RE K 144.7 511
#H & 105.9 423
5% 85.5 718
Fnak L 33.5 297
TR 27.2 455

[ E R 5 427.7 580 86.5 119.6 94.3 92.8
RE K 144.7 511
#H & 105.9 423
5% 85.5 718
Fnak L 33.5 297

I 0.4 1,985 80. 3 104. 7 — —
Fnak L 0.4 1,985

RSO VY 10.5 169 95. 2 108. 3 60. 2 89.9
Fnak L 5.4 114
RE K 5.1 227

1Fo &< 0.8 96 7.0 48.7 4.2 39.3
Fnak L 0.8 96

Z DA HED A 111.1 419 121.0 105. 0 110. 8 100. 7
RE K 55.7 425
Fnak L 26. 4 308
=R 25.8 436

U et 105.9 423 63. 4 133.4 78.2 98.8
#H & 105.9 423

Vafad—/L K 8.0 437 53. 2 123.8 67.9 93.4
H A& 8.0 437

EEVON 9.0 419 81.0 128.9 71.5 84.1
H A& 9.0 419

N 84.5 416 62.9 133.3 84. 2 103.0
H & 84.5 416

Zof AT 4.5 529 66. 3 161.8 41.3 99. 2
H A& 4.5 529

Ub 0.7 2,265 64. 7 96.5 112.7 93.2
E % 0.7 2, 265

BIED 0.4 7,904 94.0 121.1 149. 2 98. 1
(1T 17 0.4 7,904

SEHE 0.2 4,094 — - — —
A 0.2 4,094

FITxT 0.1 3,295 — - — —
o A 0.1 3, 295

Eil 0.1 4,903 — — — —
o A 0.1 4,903

Wb = 77.0 1,176 99.5 107.7 66. 7 95. 6
5% 35.6 1,067
RE K 17.6 1,091
& 9.6 1,214

Ao vEt 20. 7 733 108. 3 119.8 290. 2 112.1
RE K 13.9 757
£ % 4.0 417

BEAT Y 2.7 1, 068 122.2 114.7 156. 8 104. 0
s 2.7 1, 068

TUTFAARY 13.0 756 103. 8 125.0 — —
RE K 13.0 756

Z O A v 5.0 494 114. 3 104. 2 93.0 92.2
£ % 4.0 417
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I - SRR [F ) b B TR R
[=] E&U}iﬁlﬁ{ ﬁ%(i ﬁﬂﬁﬁﬁ% e = T oy
mr ) (M9 /kg) 174K & AR eI Gy EN BN
(%) %) (%) (%)
ZOM AT 5. 494 114.3 104. 2 93.0 92.2
RE K 0. 775
ERAY 97. 406 89. 6 115.7 179.2 103.6
RE K 52. 370
5 45. 446
XA T N—Y 1. 778 41. 4 107.8 93.0 93.8
T IR 1. 808
il o> [ pE R 5 0. 3, 531 61.3 116.2 80.9 96.3
oW 0. 4, 607
hoRE 0. 609
g N SR IE5 1, 355. 393 101. 1 105. 4 102.8 103. 7
avava 711. 237 100. 9 105. 3 96. 5 96. 7
RAF T 147. 264 151.3 118. 4 110.9 96. 7
LE 23. 476 61.2 115.8 84.5 101.7
L= T = 4. 313 30.5 128.3 46. 3 100. 3
FroY 51. 436 78.0 117.2 89. 6 101.6
XA T N—Y 306. 712 111.3 95. 3 146. 3 96. 5
P =07 10. 453 118. 4 106. 8 97.2 101.1
fib D AFEFE 99. 668 73.5 135.2 74.7 107.6




